= aaii BE L .
SR R R SRS =lbinder

[T M12 FLEKTEZRE, iRER: 4, JERR, 54, IP6T, UL, M16x1.5
SEE M12-D
BS 76 0236 0011 00404-0200
1HE EE {51 EXZR L8k (SMEMESNA)

19,5 200
11,5
L] s
=% 2 ; P
=2 B \%Eﬁ white
= y =, 3 omnge
4 blue

SW17mm  SW134mm

Version with zinc diecasted housing

31T T ISR 5t PR

BAEE

FESY

s
TS Z&E—H: 09 3732 700 04

Bt BFAR  EEmNER S 5SS ERIREF >
A LRTAERH/NT(E » EABERIERARIINEF » BRRASRAIWGE LS “BRRET

EEEER FLKEZRE

Type standard DIN EN 61076-2-101

%K 0.2m tEKE 0.2 K (FIRIBERIBHEMAKE)

[N BRFL kB aniEEes

ERSREEE 1257

BE&AR HEE

DiEiaE= 2 IP67

SEHER 0.25mm? / AWG 24

THERE -40°C/85°C

R > 100 HERREK

HE= (gr) 12.17

BRXHS 85369010

BSSH

TEEE 250V

BE HEBE 2500V

BNE BB 4.0A

Gm us

HEHA © 29.04.2024



= i
B e B AR E R R

=

SEE

S

#L5EME
SRER
(i3IS
EEESR
s
EMVERTLHE

e

ShFAtE
SEfARA R
HEARE
FRARE
HEMEL
REACH SVHC
SCIPSH3

e/
HeASS
PAES

eCl@ss 11.1
ETIM9.0

M12 FLEZEE, k. 4, FJERMK, #Fk, IP6T, UL, M16x1.5

M12-D
76 0236 0011 00404-0200

532520

PA

A% (k)

Au (&)

EESESY, 8

CAS 7439-92-1 (Lead)
50d71587-4aed-46fb-9828-3f1908fe395d

UL

27-44-01-03
EC003570

B binder

Gm us

HEHA © 29.04.2024



= 5B
BB R E IR 2 - LR L

ft M12 FLEZEE, k. 4, FJERMK, #Fk, IP6T, UL, M16x1.5
SEHE M12-D
s 76 0236 0011 00404-0200
LR
With flats as anfi-rofation device With bore hole
45°

i

AN

\/ 0 U

7
135 . _ L Ix 45°
Y

———

17,0
16,1
Méx1,5

Installation direction: o-ing sits on chamfer.

S

Tightening moment
Metall housing/Plastic housing 1,25 Nm

Thickness of wall Y (mm)

Version min (mm) | Max (mm)
Fastened from rear 2 3,5

Front fastened 2 45
positioning possible M| 2 35
Screw clamp 2 3,5
Thread M12 x 1 2 3,0
Thread M14 x 12 3157 | 6,5

Notes

1) Do no attach o chamfer

2 Wall thickness:
use nut 38 5385 100 001 up fo 1,5 mm,
>1,5 mm cut threod

3 Nut

4 Thread in wall of housing

binder

Gﬂ us

HHA : 29.04.2024



= aaii BE L .
B E LR R S R =l bhinder

ft M12 FLERTE=FE, 3K 4, JERIKR, H 54, IP6T, UL, M16x1.5
SEE M12-D
BS 76 0236 0011 00404-0200

Z2RETR

ERBENH T AEEN - FETNEAFIZERAZHE

ERSNAARATNATIN 12 - EFMBESIRERER - BRFAERENEERSES TR THMTURMINA -

ST BIIRF R AIPETHIIP6SRIIELEIZSR A E S TEKPER - EEIMERRY o HSLERZH IR IRHTTIHEIRIRIF o
BXIPRIFERNHA—DER « BB "RARER "THPD o

AT RBEGEELSIREREAMER « BLOFER "FiITE" (950 cNm) o

E“ us

HHA : 29.04.2024



B binder

XS 76 0236 0011 00404-0200 29.04.2024

XT

RIS FERERIEE A5 1907/2006 S 515!
2006 £ 12 5 18 H
FFEFMATER ~ iFME ~ HUEFPRS (REACH) o XTFEMKGEFEREER o xF 1999/45/EC
IESHMEIT o UKIEBRRREBIRE R 793/93 S &6 - EEZ R 1488/94 S 46 « REBIEER
76/769/EEC $5 4 FMKREEZ R4 91/155/EEC ~ 93/67/EEC ~ 93/105/EC #1 2000/21/EC $#5% ©

KRBRiEE (IEFMFM ~ 1M ~ HUEFRHIEIERG) BT —EBF M ("Registration”) ~ i
("Evaluation") ~ #t)# ("Authorisation") #IFEf! ("Restriction") {6% & ("CHemicals") BI%—1K & o
&% REACH ° ZBIEEZFINBENTETFTSEMRIFALXBEMIFE o

Franz Binder GmbH & Co. Elektrische Bauelemente KG AE)4FItEFRR o
HEATHEBFR (FRHNEEE) BETLEMEERGTE -

BAT PR B 1 R RO 1E 25 BV RN /2RI 7504
F N B 1S A S M B U KR ELERIE R ERIE Z M TUEM -
BABIRMB T M T M o

BIE (EZE&EEM ~ iTE ~ HUEFIPRFIEFIESRG) 55 33 &5 1 FAIFLE o Franz Binder GmbH & Co.
Elektrische Bauelemente KG ATIBITU T EE (T :

ERMEREIESE (2024 £ 01 B 23

HARE R YR EIES1A | https://echa.europa.eu/de/candidate-list-table) EiRIES
1907/2006 S%f5l (REACH) 8 59 (1, 10) REIME KT °

LSRR B S HRRIETIRFHILUTYIR - EREET 0.1 REFDLE !

e CAS 7439-92-1 (Lead)

Franz Binder GmbH & Co. Phone +49 7132 325-0 HER : 29.04.2024
Elektrische Bauelemente KG Fax +49 7132 325-150

Postfach 1152 - 74148 Neckarsulm info@binder-connector.de

RotelstralRe 27 - 74172 Neckarsulm  www.binder-connector.com



B binder

A B EA 1R~ mIAE R PABX % :

Product-Compliance@binder-connector.de

Franz Binder GmbH & Co. Phone +49 7132 325-0 HER : 29.04.2024
Elektrische Bauelemente KG Fax +49 7132 325-150

Postfach 1152 - 74148 Neckarsulm info@binder-connector.de

RotelstralRe 27 - 74172 Neckarsulm  www.binder-connector.com



B binder

XS 76 0236 0011 00404-0200 29.04.2024

XT

MEBZRZENIES 2015/863
2015 3A31H
KFRROMINEFNERERIEE S 2011/65/EC HESHIR | EXZIRYIBUERBELT

2011/65/EC 5L MERRBIFERSMBFIRERERB YR o UFRIFARBREMIFES
BELEFREMEIRANLEIRRNBESMBFIRE -

MIF 1l
B4 XE 1 FENZRYFAEFEMRNPRAADIFRE (BARNESHDLL)

£ (0.1%) 5Kk (0.1%) $% (0.01%) 7<% (0.1%) % REXZ(PBB)(0.1%) % REXZEk (PBDE)(0.1%)
PR _BEE— (2-ZECHE) s (DEHP)(0.1%) 2P _HREE T < A5 (BBP)(0.1%) B X _EREE — T Es
(DBP)(0.1%) £B*X —EREE — =T fi5 (DIBP)(0.1%)

Franz Binder GmbH & Co. Elektrische Bauelemente KG AT 1EtEIFEA o

FREtR AR MIIR S LIS o & [RE) 2011/65/ECHELHIR I ERBISMERT ©
BN @A S EASTAENRAAFRENZAME

o fT5 RoHS 152 MiR Il RLERIBISH 6¢

A REE AR I ER PABX £

Product-Compliance@binder-connector.de

Franz Binder GmbH & Co. Phone +49 7132 325-0 HER : 29.04.2024
Elektrische Bauelemente KG Fax +49 7132 325-150

Postfach 1152 - 74148 Neckarsulm info@binder-connector.de

RotelstralRe 27 - 74172 Neckarsulm  www.binder-connector.com



B binder

HlliE = e
TR EES: 76 0236 0011 00404-0200 29.04.2024
*F
ST HE RoHS A MR
KA EWEREA=RATEPENEERK o
A7 R EE 50 EIMRE RN E 2 EIMER o
i mX A U FIERTas A E o RIE (BF1TARAE SJ/T 11364-2014) FIRE
KR EERIMREAHAR (EFUP) 175 o BT AT S IAEa S FRPFARNMERRS o
BRI R 7 25 72 SRR PR HA PR B HA S S L B
BEYR
. _ - <M %8 %8
AT ) § " & BE% BE
(Pb) (He) (Cd) (Cr(vV1)) (PBB) §% (PBDE)
TR X 0 0 0 0 0

ARRIRHE SJ/T 11364 FE IRl

O:F®MIZEBEH RPN ESYR S 2T GB/T 26572 BRHIEXK

X:RREZBER » EOF-MIRMENEEYIRZEST GB/T 26572 FRHFIEXK -

BRFIMATEZBFNBEST PR SEAIUIE R ERIE -

A REEA AR I ER ABX £

Product-Compliance@binder-connector.de

Franz Binder GmbH & Co.
Elektrische Bauelemente KG

Postfach 1152 - 74148 Neckarsulm
RotelstralRe 27 - 74172 Neckarsulm

Phone +49 7132 325-0

Fax +49 7132 325-150
info@binder-connector.de
www.binder-connector.com

HHA : 29.04.2024



http://www.tcpdf.org

